skala:
1:100
nr o rysunku:

‘ obiekt:

==3z v T T O
weEe e = =0
E T ° o
TESN ~N = N
S RNX ~ o
RS o — .
. WM@MH o~ o)) .WG%
> oyizq n SERSO M < o=
Tz o (-
N ¥=_.33 0o 5 0 oo %)
o o388 e < N o o~
v [SE=qeR=avd ™~ o
O E [ ES35 [a'd © — N o _ =
522 - 27 =
= g E28s = 23 = cd 2 £
Zoh== - ~ T -
U2RLES - = o ..
N X ZITB% Yox 8 S °oTE
o 5 o gsgss ORE x - e ow 3 M
& = 2 — SE23= 2FE = = °R e 3
5] ER=ISuE = = — - 2 o = ~
b= - I
Ll 2 = =15 < v [S) o 0 <~
= = [T, " ge = 2w o5 o <N 2
(@) o = : ~NEE -2 n =g © o =
= | N 22 e T o o =2 £ = <
W <C T,MUWW DSA ] R o v = o Ry ~
o = 5228 L3 =5 < 228 g S
S =535 oc a w > o a
e _
(o) m H_ Mmmwmn WILFR DN = AMn m o | = I
= = . -
= £33 5 O=ZS = == =3 zZ|= &
[NN) SELLS [mm) =
— L | ST §de2 mzo (=
— o <= -
= = E > oI5 S o
=
£ o o ZE28 L X 2O = &L . - =
A obd= = = = EY e = o
[T gz 2| < 2 =T N £
= < sizezl| s 322 S 2 cle |z =
3 & € 7 JzFecE 2 B N E® = D 2 1515 .
& Zz=n 00 o D = = g = 2z |a &
& 9Q un Eu®E0 ||, m S E = S oE >
[a W S=_=8 el o S ] o > =
¢ = TR S = E =12l | SlxlE| 2|8
2
< = Q2 = ENREREE N . < =8 €8] 2|8
O ()] oo w -y o <C =4 N =
O = Q== — S — = |2 S |2 ]
< — 1l o] NEZZEC = ) X | || = [
L =20 - = = o [ O =
N A T £32%s = %) [E8] . . . = .
W SEE3=3 [ = S| < Alc| < | <
O a (&) SbeSc| | X = 2 & | Lol a| e
) (a8 [ w LTS = = = o | o ~N | o o %) o

-

2017-12-15
indeks fazy:

data:

ARCHITEKTURA

TYTUL RYSUNKU:

1604 PBW 00 AR-20-40

FAZA PROJEKTU:
PROJEKT BUDOWLANY
BRANZA:

RZUT DACHU

nr projektu:

rewizja:
00

59

50

S/

. .
] 4659 ) ]
4 0zl 09¢ 0L 07S 6IS i 615 07S G " 059 09¢ 0L 08¥ 787 !
d y Tl 2 * 0% d
V O V e L - ; V
’ Ge0t 7 ’ , , , _— W m _ ! 087 ’
¢ | 7
| |
3 | | | o R | B 3 4 o 3| 8| =
— 7 B | | - | - & - a S
| | 2
\\\\\\\\\\\\\\\\\\\ I R I SN ESSSS—S—————..———— ... —————.
- ] M"\"M“M"\HM“‘M“\"M"M“\\\‘M"M"\%”MHM"\‘4“\“‘\“HMNH\H‘\“\"‘\“‘\H\"‘\"‘\"\“‘F‘Mﬁ«w\‘\‘“\u‘\”\‘“\“‘\“m“\“M“ﬁ‘\f\u“”w“\‘ﬁM“M"\\\‘M"M“\“MHM‘E‘M“\“M‘ -
7 . — n
(@)
[l 7 || N |
W\iv | | |
N 614 7 7 6e7
g g 286
~ |
1 _
[1] | | | | _, , , , -
M | | Lo} L | e} ~
_ i S 0Ll 3 T e 3 7 7 7 = S
= C A , L , = | | | | =
o s nvi ENTRALA We = 7 7 7 7
= K S u =
[ M Wn = MNM Au, 3.1 /W31 o MNM D M
| = & 2 = R = o = = | , =
2| e IR R i N . N 1 -
i = - * =L + A /H/‘ : ! + = , + +— = :
T = g = s 868 i %] 107 o b co6s | LT g GCl6 01 1L 2 G'8lS
il = = £ T 3 7 SRR TN\ =
2 H B ihs: g g e - ’ 8 e , S =l -
; T =T - |e— 3 a— 2,
3 - 17T - N - I - - - B — = - - — EESR RN _L“‘ - - - - - - ‘Nm‘ e ol e e - - .
i; _ P Y | rlrl_ & | _
| N < | [iszmsei] 2 . |
_ . 2! =S ) |
= - = - f |
= ! _ ! >
N g I R O A e N e « | I R ) i |
= 2] = 1 | N B P % 7 - T , |
hf = ~ ! = o~ =
: W M S 7 ,; | e M M _
] s —— ok > o
HIE= | | T E £ =
| _ * . - ﬁ
L Av | : 7_, m ,W ?ﬂ \T Av }
- - ; - —— - 516k - - - - - ~ 96— - - e - - — e - - - - - -— - - - 1 - -9 — - —— - — €9 JE 60/ _ £09
_ 7 | | e
C | | o~ —— Y —— - - e e e e [ = | _
= n < N N_—_—_ el e A B 7 Z _
< i - | i | S | |
I e = " W; ) < | o ii , o #,_ , |
N i o f . it . f _ — [+
— . - - — — - — - | _ — -2 - — _ - - — - — — - <7 — — - — — - - \‘LL“\‘\‘\ — — - - — — \1‘\WHUI 1 — - - — -
X I AZ/ _ = i _AM : , i | ~ W,, H .
Lo | | . | 7 - | —
k| e - 2o |l B 660 H _ \ 5981 / I 3
kT %m, = S s ES S r% §10§ 616 < 615 G 10§ i | 1 |
; = = | I K | L=
2 HIEE: a2 | i = o ; _ 7 _%
Hi- | i Lo Lo || L D ; ,_ 4 | _
Il £ | ! It I, _ 5 _
5 5 i i; , N /
L' ] I , & 2 2
- - - - - - - - - - - - - - - B - - - - - - - - - - - - - - - - \‘+i\‘\ - - - - 9 - 6 \ v Lo =
1 f wo " ™ o :
i = ) it | . I, | 7
I = | I fi 3 | ES =1
! z 7 i f 20 _ =+ 60/ t | 6’809
m Il = 2 | z m m 1 l = I |
I = = 7 7 _ = Be
1 = 7 : il _ = /ﬂ/ _
] = | | ; 5 \//\_/ | ||||W.IL_,\1 |
E , 7 ; f W?\ _\ m.,, Dllq\m N .
S e N e e e 11 R i | iy B Bk i ey iy iy 1111 1 7400 iy B IEE
. ﬁ I e e
; % % ; sl i = <
_ W W G609 AT §Tv0l 9 _ s - = _ _ , _
3 I r—=~==" tﬁ = i = = _ _ | | _
M Ty | 1 -
I _ M‘ L,/ ,r i ﬁ\\J : = = | | |
] e el o~ 1 I = = | I Ll |
“‘L}T - - - - _ _‘k e R - - - - - - - - ; - - LD ! | < 9 =z _ N 25_
i X i - . g = L
i Lo I 3 H - “l= -Tﬂ £
f 1B N —® == Jo &
77 _ _ ii ™~ 77 -~ | —~
‘\‘i _ “ > ‘7\; i T
o | = w f o | o = _
% i L= = i = | = S 2 s
'] [ = = ! I | 2 (S = 7 = 601" = G209
| [ 12 s Il 1 7 = A = [~ =
1 AR LNy = B - | /- = i - | =7
- H AN PN 8 1= = = | W; W; T = - W\ / JT\JJ =\l
[=] I>2) o~ (&) = ~ \ L =T
5 Noar || g B _ _ %/ o | €L = 7 | ; = - W\ WL: =F
= o < s = A = =
B 17T B B a1 T B ialu‘lju, R = S e B B . B B B B B B . B B B S L B EERIE = __ B B B B B
I = BENE Wi " ;M N o t 69 | = | <9z | = 699
05 % 629 I R AT o@ 98 | W L~ == RS
i i B W - @@\/\/\/ = | | rZF = _
o = R _W == L=——=)) | | T = ; 2 g = \CENTRALA WENT. | P
i 1 T gy =5 | 7 Il o :W 2 2 N2.1/W2.1 7 o
: Il = = T = | 2 | { =5 | | ]
_ It , =5 < Y il 8| _ - il T 25 i -
= 1) ( 2E I e il "R = i = R
I I B = | s
i = - ! il If
! - 50 o = iz 2
| = | L | = wﬁ
Il W | I - i M W\;
Il = [ N < 1! 2 i
2 Il = _ W/ . Il |
& _ A _ \ _ S R S N _ _ i [ S e A _ i A _ _ - _ _ _ _ _ _ - _ _ _ _ L e —— €l
~t N I e D e I 7 e \AA ‘
il = < 4 |l | I T m N .
: T " Iy S Wr Ar jﬁ L s e a
ﬁ 879 2 7l G'G6¢ =i §'96S T Sirel - // > ¥4
fi 4 mm i; o ”; N N A VW»
I N MW il v oo =
I - = | 3 i : a® bE
I | . Wﬁ W; W; L N >VW
S } | z wm IF S 2 s N S
~ o . | = 1S ak ; ~ ~l s ; . %/ o ™
Il = < < = i ) JiE L
| x3 , i 1 IS .
o il .
i = | i
ii %W 77 77v I > RS
1] L e . s
1 LTI 596/ i ] = : 5
T | s - : 5
i . _ i R ﬁ
- s : - - - - - - - - -——t - - - ; - - - ——_- - - - - - - ——_- - - - - e o e e e ey - -
l | | -l F - A
i; t | i o~
G | - T o S S
|1 IS i r— i | =l 0 =
1] e l 3 i R = i
[1] m:iL, ,” _ 4,/ 2 = - ;
1 PRI 1] [P S L 4 - i
] I E\M\P NP = = :
= A | I | |
R L TTTERS=AN ) E T i : , v ,
it =g ) = = ) , I, ARG T 600 0 v [0 v D v |1 Sy . 057 .
S ’ 8.5 ST e = = "leor ? G809 T = , e , — 0 1 S
N [ = [ = L L L b N
: < _ ; iz Al 04¢ 0k T 08¥ T W i
= — o * (=i
i AN 5 T 4 D SFee 2 ] ] 4 3| =3
i o il
1 = e iE:
[ bl — mm
I < M O e (e 1] [ O il A =
H ) ) ) T < o) ) ) ) ) W) V) m
S 111 A ] S S 111 S 1 | | | S| .
1l | | ~ | : | | | | | |
H = i —— ,. . 3
- = | | ! | | s : ﬁ 2 B
ol S I , = ) , , I T T " ~
= [ ~ 5y I
= _ \: _ _ _ W _ -1 o I _ W _ _ _ _ /ﬂ" _ \WT‘\\‘\\\\\\‘\“\\M‘\H \\\\\\\\ ——=Z1 _ _ - _ _ _ L
r-—1!r ! r et A S A AN\~ N N —_ e e N
i : e : ;Z , < 1 |
" §IsL iz 7 §'676 ” | s & f W 7
| | , HIRION o
= 4 _ = 7 B ; a2 A _
g :m = 2L G 4 =
HE | Y I N |
& 7 | S =
= | : S I <
H\fi 7 i; a > ii w
] | 0 N R N |
= — o 77
V1VIAQ : 1| |
f gl e
| = =
o=
3 3 : | 3
t
| .
5§ e
= N
o e BT ] | )
Dol = I )
. 2 |
_ = E l |
S < = f 7
~ R =
-l 1 T & T T T — 00
- [ [ A ——— i ““““““““““““““““““““ MLU T — — —F U i‘\‘\‘\ - - - S
| <
BN | ¥ ¥ , ﬁi
- f 81} 7 ]
QM | 5o |
~ | - N |
| I %t |
- = 1] 12 I . |
L L ; ,w M > W i
=) oo T g8t ST IS cH| L = 6'68) 00} || S
™~ Av . i @) [ || - < ii - —
2 T = | 2 | 2
ST s = N w7 \NT; v | S
i N T | e z I . N N
+l | | L — , bl &4
i o' < O i
e o I I 7 B
| =z “1 I =R 4 |
e 5 % I D S ﬂ -
I T I =N S
_ _ LWW T : R B | W\T‘\‘\‘\ _ _ _ ™
| | )
5 |
— 7

oOU

360

S6°

=
—— g

o)

[T

o

~>

o~

-~

510

50

600

4724

¥ ¥ ¥ y ¥ ¥ = y: ¥ bk
G 00} ¢ 08¢ 1001 {8y ! 66 0c1 g = 0cl GGy 144 a4
_ _ _ -ttt - _ _ _ D _ _ o _ _ _ _ _ _ . _ _ _ _ _ _ o _ _ _ _ _ _ . _ _ _ D _ _ o _ _ _ _ _ - _ _ _
B T =

220

380

50

600

50

600
3769

220

|
|
;
|

1.7
7

50

4069

600

54

600

680

3166.9

|
|
|

SWIETLIK
SWIETLIK

220

54

3166.6

600

59

600

380

220

0B-01

59

600

57

360

-
-
2
uy
~
oo
—eT—
~rl
L,

-
[
o
o

RS
=
N
o~

-

RS
f=)
o
>

-5

44 086 0zt i[44

H 12.16

~
— — — — — — >l
>
s
~
=S
-5

57

360

46.5

L
0095 | !
Av

009 009 009 009 009 009 009 009 009 001

A
S8

SCH-
O
SE

SF

SO

SH

S|
S

S

465




